EAGRAROBREERT — 2 N— ABISH —F

2020667130 (£) 1HEEETH

R Xl

REEH i

‘ [R1%] & ‘ [REBE] — | & (&) 17000 B

[~&%] 1 7% :5,100,000 @ ~ 2 7% :2,000,000 F ~ 33 :1,300,000 4

4 7% 770,000 § 5 3& : 510,000 [

& %B BB Mk ME BF (&) 24 L (&%) | @BIBfr | £3F |SIEH | AK | AE | R FIR) / BE / £EHS
. > 3| BEED 1:47.0 7-7-5-5 [ 38.9| — 2 44 | BESFF (ER)
1ls|g|ZvFv> - A53.0 =) (o) | ANEER
RixkLvH/xwF BiEy hEHUT ARG
o, T . e _ =
olg|7lEN/ T T [B] # 3 | BllE# 1(.34/?4.)1 4-4-4-4 | 39.2 4 (4_628) %ﬁ)(ff)j
L:N—vI54 B:9IZXbA-X HE SRk
3 5 — 4 3 | HEAK 1:47. 3-3-2-1 [39.5| — 7 472 | EHEE (BR)
3lgli3| ¥avFT=A ¥¢55.0 (7E) (-p) | (B) im
L:XAv—=hr77)b3> BRMLA RT7ELTXHR =Y Ty—L
_ - . EHRBZ : ~11-6- — R (FR)
4 IATFA TSy 3 Bk 1;{:)2 11-11-6-6 | 38.8 3 zzg? Lp
LNy v¥—Ib B:ELY T4 E— biEe]
o 2 N 43 | FLAsH 1:47.5 4-6-6-6 |39.0| — 13 | 474 |BRFIL (EH)
5 NA D vINAH A5] ’?) (1 3/4) (+6) LB A
RIRFFLY BINTIHFYLL ZYHLIT— I
N . IRFEE 147. —7-9- . — EEF N (ER)
5 A A S HI— 4 4 3 o 174755 8-7-9-8 | 38.9 12 «g;s G2
R:Z2yY—>b—A— B:XavIfHILT EUFHT7— L
N . FUTR : -11-11- — NEFRER (i)
. FH— KA A 4 3 AU 1(747t§; 12-11-11-12| 38.8 6 zzg()) Phakia it
R:b—t>ya—4> BRXHT)-> iEltae]
5 4 3 | HlKs 1:47.6 13-13-13-13| 38.5 | — 5 460 | REFE— (%)
3 ¥>7LL [B] 56.0 (74%) © | # GUEI-n-L-voy
L:ovRay/4 B:IYRyNER> J=HTr—L
o # o3 | EEREEX 1:47.7 9-10-11-8 | 38.9| — 9 448 | EDEE (FR)
9 I X/N— 56.0 (1/2) (-6) E?ﬁiﬁﬁ
Lxvv/xEx BNy arlLy R BEHE
. 4 3 | SHEEA 1:48.0 9-9-9-11 [39.3| — 10 | 404 |#ZILUEERE (FE3R)
10 6 10 7"— J l\ 56.0 (1 1/2) (+4) ==Pun:)z]
Loxq4o B:7—-~>ha-—k 17 IH5
> 4 3 | AR 1:48.2 2-2-1-2 | 40.6 | — 1 480 | BERBIME (ER)
116N 4 )"1'/5'771'4'75? [B] 56.0 (1 1/4) (+4) MRLTF I
A4 39K =5— B A>3 IT74UX =RWE
o # 3 | BEKXME 1:49.1 1-1-2-2 | 41.5| — 11 42 | BAE (ER)
12/ 8 |14 2L 21 FT =X 54.0 (5) ) Mz
L:Z2bAYTYE=2 BZXALTLAIN— ellikse]
N # 3 | REER 1:49.6  [13-13-14-14/39.8 | — | 14 | 484 |HFE= (®H)
13l7l11| E—E=n>2 22— [B] 56.0 3 © | B mEss
by ¥T— N B:7OIXT Hhz4y K
= - 4t 3 | EHERH 1:49.9 4-4-6-8 |41.5| — 8 432 | AREN (FR)
140111 I/ T14TF7=— 54.0 (1 3/4) (-a) | FAMEE
L:d—IWRYy 7 B:FAXI-IK NSRS
@ 21 L
£y 51.6-39.4
NA> 24 LA | 6.6-11.0-12.3-12.6-12.9-12.2-12.7-12.9-13.8
® I—F—&EBIERL
| S=7r= 14,4,13(1,6,7)8,2(9,10)-3,12(5,11)
23—7F— |14,4-13(1,7)6(2,8)10,9(3,12)-(5,11)
G=7"= (14,%4,13)7,8(1,6,3) (2,10) (9,12)-5-11
Mal=5r= 13(14,4)7,8(6,3) (1,2,9)10,12,5-11
[ N
BB 8 500 | | 71 K 7-8 640/ | | # = 5-5 1,710 | | 3&4& 7-8-13 5,750
# B 8 190M 8-13 1,050 B E 7-8 1,580 EE 8-7-13 19,480H
7 240 7-13 1,400H B H 8-7 2,980
13 340H

ABRICOVTHRTEEERROODE, THEB LS,




